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3.Complete the paragraph:  

You eat(a) more than you can digest.  

That's why you have(b) a poor digestion.  

Eat only less at(c) a time; take (d) 

more fruits and vegetables.  

4. Edit the passage:  

Incorrect      Correct  

(a) an                 a  

(b) success  successful  

(c) over                    in  

(d) experience  experienced  

(e) to                  of  

  

5. Change the voice:  

a. The manager will give you the ticket.  

b. The dog in the street was run over by a car.  

c. The laws of the land must be obeyed by us.  

  


